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The principal use of the Analytic Art is to bring Mathematical Problems to
Equations and to exhibit those Equations in the most simple terms that can be.
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—FEdmund Halley

4.1 9ftrent

el ensti o, o9 T =R ol Waeh RN w1 ST B TR B
AT TH =R ol HE s G form Ghd ©2 9 %E Hehd © 16
Xx+1=0,x+ 3 =032y +/3=0 Tk =R Il Fa® THH ok I &
g 7e oft S € foF U8 Gl 1 U afgda (s1efq uF oI et T)
T BT 1 STYh! G T ff A% B 5 U Fem W1 R g F 7R yER
frefua feran SaT €1 39 7oA ®, B9 U =R ol faew gHiewel W) g R
FA 3R 378 Gafud JH F = At Paw il R an] w3 76 e
TH YR o e W foER S 94 < = Al aew GHienor w1 T g Bl
22 9% &, @ %o T g e 82 Hid qd W e fhe YR ke ve
2?7 T hR o YAl 1 AT H o (1T, T STeA™ 3 W odlE TS HehouTal
1 oA gE HA
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frefafad T o

2x+5=0
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THRT B, e THHIT HT g _g‘%wﬁm%@mwwﬁﬁﬁa
fopan T ket €, S fop e a6t emepfa W @ 0 ©

3MMFfa 4.1

T THIFO HT T Fd GHF Frefefad sl # ea o @A g 2
T e i W q9 SIS YWE 6l qgdal Seih:

(i) T % <A vel W EHE Hem Siet a1 uerl =t el

(i) THERTOT o A Ul Rl WM YW GEA 9 TN A e S @
3TET o9 &9 ffafed feafd | faem =i

TR § 9GRA FR st o de Wl T Th THiGaHd S fwene

T ¥ ) AR doeters 3 Tk @Y el 176 T oAU 39 SR i Th
THH o T H S DIt
& Y I8 @ Gehd 2 fF I doctarsi § 9 fRd off aoces g @A
T W A AR §, el w1 o el ¥ STeT w9 3 o Ui W
x @R y ¥ Yhe | TH TE TH gooids g §AC T H S G T SN
TR FeceSl R S MY T R H@W p 21 eH S € T
x+y=176

2 W 5 snfie gt 2

Tg & I O T aw GHE H1 T ISR B TE WU W e R
39 WK o GHION o =R Wl x @R p W Yehe foRa S €, W 3T Sien
1 off gE feman S wehan B1 S =R Al aw SOl o eSS 4

1.2s+3t=5,p+4q=7,nu+5v=93ﬁT3= \/Ex—7y
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1 MM FP AN ST < Tohd B2 A AU o o9 57 ettt
T 1.25+3t-5=0,p+4g-T=0,mu+5v-9=03R2x—-7y-3=0% &Y
o o L Hhd B

oTd: 3T U &, N9 ax+ by +c=0% ®9 § = ha1 s Ghal &,
Sl a, b AR ¢ arEdfos G@ad € SR ¢ 3R p A I A B, 7w aren
Waw GHIT (linear equation in two variables) gl SIIdl 2
SETETOT1 : A1 TEU T GOl &l ax+ by +c=0 o &9 ¥ fafEy 3R q&ie
feafd § o, p 3N ¢ % AE FAEY

() 2x+3y=437  (l)x—4=43y (iii) 4 = 5x — 3y (iv) 2x=y
TA: () 2x+3y =437 B 2x+3y-437=0% &Y ¥ for@n 1 Gehar g1 &
a=2,b=33R c=-437 Bl
(i) TR x 4= 3y Blx—(By-4=07% &9 H fa@ =1 gwal &1 Te

a=1, b=—3 3 c=—4 2
(ifi) TR 4 =5y -3y B Sx -3y - 4=0% &Y § for@ w1 Gehar g1 Te

a=5b=33" c=—4 B/ A9 3@ od 4 TgAd ¢ % W

Sx+3y+4=0% ®9 H i fo@n =1 gwar 22 3@ fefa H, o= -5,5=3

3ﬁ'€c=4 %I
(iv) THHEI2x =y Bl 2x — y+0=07% ®9 H for@n s el 21 T a =2,

b=-13 c=07%I
a0 ax + b =0 & =W o1l {as GHHWEN F1 & Tk I ¢, Fifh
Wax+0y+b=0% &1 § for@r s el 2|
IR0 o fAY, 4-3x=0 H 3x+0y+4=0% ®q H for@ 1 Feha 2

samEwor 2 fAfafad ¥ o g@@ & g 90 9 THEl o ®9 H O
HifeTg;:

(i) x=-5 (i) y =2 (iii) 2x = 3 (iv) 5y =2
TA () x=-5H lx+0y=-5A1x+0y+5=0% &9 § forar s T&a 2l
(i) y =2 Ox+1y=2,AM0x+1y-2=0% &Y § for@n S Fehar 2
(i) 2x=3 o 2x+0p—3=07% &9 H fo@n =1 Fhar B
(iv) Sy =27 0x+5y-2=07%% &9 H fo@n =1 Hehal 2|

Rationalised 2023-24



T = At e g 67
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1. T Aegsh &I HIHd Tk Ferd F1 FHd 9 3 T 21 38 woF & Fefa w6
& fou 3 =/ aren weh e g fdfau)
(Hohd : | ATSIY, AR 1 HIFd x T AR Held HI HIAd y TE)|

2. Trefafaa Was Tl 1 ax+by+c=07%h ®9 | e SIS AN Tedh
feafa & 4,6 3R ¢ & A TR
@) 2x+3y=935 (ﬁ)x—%—lOzO (i) 2x+3y=6  (iv) x=3y
(v) 2x=-5y (vi) 3x+2=0 (vii) y—2=0 (viil) 5=2x

4.3 Y@gw THERTT HT TA

S 2@ 7 foF T =R A Ui aeh g T T SifEdtd g Bl e
T =R Al ek GHE oh B o o) W 3G 1 %He Wehd &7 i
iRl § |1 =R ¥, THiG gl 1 e Bl © xq°0 y W S9 WAl w1 g S
fEu gu Tl Bl Wqe Hd €1 MY, W HHERL 2x + 3y = 12 | F&l
x=38R y=2 TH & B, Fifh 5ol 87 SWN o THEH H x=3 3R p=2
yheenfyd wd € q9 ed T@ W e €
3y =2 x3)+(3x2)=12

TH Bl ] U hitd I (3,2)h &9 § fo@n v ¢, e wd x @
3R 3G 9%y 1 G T S 21 36 ¥R, (0, 4) SR fKu 7y e
F1 TF 7 2

Theh foadia, (1,4) S0 U 70 G0 =1 T 7 T/ €, i x= 1 3R
y = 4 TfqEenfid FE W BH 2x+ 3y = 14 WE B 2 S 12 7 71 A g
o (0,4) @ Th A ® W (4,0) TH TA &l ¢ TH W T 2 +3y=127%
FH Y %Y q T (3,2) 3N (0,4) Y@ HT faw T

1 M9 HE T TA W HL Ghd &7 F T TH 96 ¥ HeHd €
(6,0) Th 379 & €2 A% &, dl 39 30 Heatuq sifey awqa: = fafu 9
B HE A @ H Ghd &

MM 2x+3y=127H S0 TBHEAR x 1 Tk AW (AF oifNT x=2) &
Tohd B q8 THIHIOT 4+ 3y = 12 B a1 €, S fh T = aren s S

Rationalised 2023-24



68 Tfora

21 30 B HH WEH p= W%ﬁm‘élaﬁ 22 2x + 3y = 12 TH
B ¢ TH WHR, x=-5 Fﬁm‘a’qqﬁ%%wﬂw ~10 + 3y = 12 8

21 &g y——W gl 21 e (—5,23—2j,2x+3y=12w TH IFF T B

Wﬁaﬁmﬁ%@mﬁw#ﬁf%%ﬁmaﬁémﬁ%lmm
sd ® % 7 o9 arct Waw gHisor & SToRfya &9 9 o 8 Bld 8l

SETETUT 3 : THITUT x + 2y = 6 %h ¥R 3TET-3TH a1 1A ohiterg|
T T@H Wx=2,y=2Th & 8, Ffeh x=2,y=2N

X+2y=2+4=6
2| Y, 379 B x= 0| x o TH HH W & §3;N THIHT 2y = 6 B Sl
2, Tt for wh otfgdia &at y=3 e 81 81 x=0,y=3 W x+2y=6%H
T T B T WER, y= 07 W G gen Wl x =68 W@ 21 3:
x=6,y=0% x+2y=671 Th g 2| 3 H, Y &0 y= 1| 37 o gan
GO x+2 =6 @ Wil 8, e g x =4 @) ey, 4, 1) &y g
THIRTO T T T €| ord:, U gy Tt & orafifia &9 9 oFeh ol o
%IT{W'&%:

(2,2),(0,3), (6,0) 3 (4, 1)
feuroft . eqm T foF T 7 9d & 1 W At x=0 oF ® SRy
T I I AT B S YRR, TH y =07 Tohd € IR 99 x H @ AA
T H A B

3aTE 0T 4 : frAfafaa Iiol o 9 e THIROT & 3 B 1A Il
(i)4x+3y=12
(i) 2x+5y=0
(iii) 3y +4=0
T () x=0°H W, B 3y= 12, A y=4 T e 21 3@: (0,4) ft fu gw
GHIH0T T Th B 81 TH THR, y=0 o WEH x=3 WK el gl 39 e,
(3,0) ¥t TH BA 2
(ii)x=0 &H W, BH 5y =0, AU y= 0T il €1 ST (0, 0) Y g Hefrahwwr
#1 Th TA T
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o, A EH y=0 o, A BH TH TA o ®9 § TA: (0, 0) W Bl €; S TR
T8l © T8 91 Tedl Wi fRa o1l U 319 B WK o o T x = 1 eIt

9 9 T Hehd € Ty 1 WG HAH —% B o7 (1,—%),2x+5y=0 Eal
TH 3 TA B
(iii) THRTT 3y +4=0 Hl 0x+3y+4=0 F &9 § for@" W, x & fmdt ff
mm%ﬁy=—§wm| 3d: BH I B 0,-%34311,_% e
B "Whd 2
qyTaet 4.2
1. Freifafa fawedl § SH-T1 fawe ge 8, ik w0
y=3x+5%
() Tk fEdaed® (i) oA F FA L (iii) IR T T 37k 7 &
2. Trafafed gl § 9 s e & IR ga fafa:

1 2x+y=7 (i) mx+y=9 (ii)) x=4y

3. 9dEC o Ffafad gdl § SiA-shid GO x 2y =4 % Bl € 3 BHHE-HM
7 T E
M (©.2) ) @0 i) @0 @ (V2,42) @D

4. k 1AM TG BT Safeh x =2,y =1 THHWT 2x+3y=k 1 TH & Bl

4.4 WA
TH A °, oA frefetad fogsti s steree fean 2

1. ax+by+c=00h &Y o HHIHIU h| S&[ a, b AR ¢ o&feh @AW & 3R
a 3R p 3 I TR B, =R Ao e gHiewn wel S )

2. 3 =W o aw g o oaifd €9 ¥ 3% B B 2

3. T = ol ek T o e W fa yeies fag e S w1 T
T B 21 WY &, e e &1 ToE g e T & oo W
feor ww faig & 21
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